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A bus company advertises two prices for a return journey between Aberystwyth and
Cardiff: an adult price and the price for a child.

A family of 2 adults and 3 children paid a total of £71.50 for their tickets.
A group consisting of 3 adults and 4 children paid a total of £101 for their tickets

Use an algebraic method to calculate the total amount paid by a group of 4 adults and
2 children.
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Each side of a square is of length (2.x + 3y)cm.
The perimeter of the square is 62cm.
(2x + 3y)em

Each side of a regular octagon is of length (x + 2y)cm.
The perimeter of the octagon is 72cm.

(x +2y)cm

Use an algebraic method to find the value of x and the value of y. 5]
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Solve the following simultaneous equations using an algebraic (not graphical) method. 4]

4x-3p=2
6x-5y=1
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Solve the following simultaneous equations using an algebraic (not graphical) method. 4]

3x +4y
2x-3

16
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A rectangle of length 12 cm and width (2v — y)cm has an area of 72cm2.

12em

@x-yem

Diagram not drawn to scale

KLMN is a kite where KL = 3xcm and LM = y cm.

K

3xem

M
Diagram not drawn to scale

The perimeter of the kite KLAMN = 33 cm.
Calculate the values of x and .

‘You must show all your working.
Do not use a trial and improvement method.
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The Morgan family and the Smith family are on holiday in Aberystwyth.
There are 7 adults and 2 children in the Morgan family.
There are 4 adults and 3 children in the Smith family.

Both families visit a Craft Centre.
The entry price to the Craft Centre is £x for adults and £y for children.

The total cost for the Morgan family is £41.50.
The total cost for the Smith family is £29.75.

Form two equations in terms of x and y.

Solve your equations, using an algebraic method, to find the entry price for adults and the el
price for children. Ik
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An allotment has two rectangular flower beds A and B.

Flower bed A is x mefres long and y metres wide.
Flower bed B is twice as long as flower bed A and is 3 metres wider than flower bed
A.

The perimeter of flower bed A is 18 metres.
The perimeter of flower bed B is 34 metres.

Use an algebraic method to calculate the area of flower bed B.
You must show all your working. 6]
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